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01 RIZEAt2E X 14,780 48,000 A 33,220
OZUESHEUAIAE 36,949,000& »40% 14,780
= 7,390
< 2,217
s 5,173
TEIELINAY 5,833 17,039 A 11,206
= 4,537
= 389
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402 RI2HXt20l 5,833 17,039 A 11,206
= 4,537
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< 30,000
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< 340,519
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= 1,033,064
< 308,519
s 650,372
O2 LRIt RII (LAY 200,000,000& 14! 200,000
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OBSAEIRI| LS ZALE 33,706
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= 9,968
& 3,378
= 8,884
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= 2,250
o= 900




SH: 4D
HE: MEX

S =IIRI| MY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,350
— 282 5,963,000 x14l 5,963
= 2,981
= 1,192
= 1,790
201 et 9| 9,500 21,089 A 11,589
= 4,750
o 1,425
= 3,325
01 AP 2t 2| H| 1,000 10,966 N9,966
ONEHIOIQUNA EEE 29
1,000,000& x 14! 1,000
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SA A
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el MEE B3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
MSLRUHH L B4 63,260 62,762 498
101 @124 dl 4,400 4,400 0
04 DIt 22 XREES 4,400 4,400 0
Ot xS LS 102,325& *434 4,400
201 Let2d] 55,160 53,662 1,498
01 At 22l 18,200 18,200 0
O&= &R 22 18,200
—MEXY AEHH 7,000& *600 & 4,200
—MEXY HESAHIIE HMA
400,000& =44 1,600
— S&ZHAM 2HEH A 300,000 *3H 900
— =Y elF:F M 1,000& *1,500%& 1,500
—ME2XHI AS HE 100,000 =154 1,500
—E22H 2225 & 7¢
50,0003 «2& 154 1,500
— &2 =2 (HMEH) 2L
65,1163 435 2,800
—dEaEa A 7,000 «4H «150 4,200
02 =224l 36,960 35,462 1,498
OtELXNSSF 29I 36,960
—MELHHEXFN 7Y
1202 x9L+8LH+1,758& 15,190
—SYH UEZANY SFU THEHHE
1202 5L« 10H «1,758& 10,548
—R&IIX= HE3H AEE
50,0003 «12& «1CH 600
— 24 X2 AIIAMEZ 10,0002 =122 204 240
— SRS =2 400,000 =3CH 1,200
—MEMEA(MSUIIZA)LSSAERZ
13,0003 * 1200 3«24 & 312
—AFHEUII=Z=L IS
200,000 « 120 S =104 & 2,400
—&EXNY HI|IZ2 M2 30,000& »7CH 210
—MEXE TUHSIHA 80,000 =7 CH 560
— X2l 250, 0003 «8CH *23] 4,000
— &SI EFOIH W ABl 100,000 *3CH»2K 600
—JIN=LLR&I HH=x=cldl 550,000& *22] 1,100
203 YR =&t 1,000 1,000 0
03 A=A H 2 =AY 1,000 1,000 0
O&==XICHH =&l 1,000
301 g2 L= 2,700 2,700 0
09 HALAHIEA S 2,000 2,000 0
OHtgus 243 50,000 *4 «10H 2,000
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= 1,392
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= 47,779
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= 134,765
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= 12,499
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s 13,119
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O &t EH NE 500, 000& *50 4 25,000
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308 XXM S0l ™ 84,602 84,345 257

g= 84,602 84,345 257

e oI Xt 80,566
X

4,036,000 14! 4,036
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— ANHASUE AIRUHIS 300,000 83| 2,400
— OS2 HM 24| 800,000& *43] 3,200
—MEFSHI 10,000& * 128 x25 240
—8=2J gz 50,000& x12& 600
Ogsissad gAY 35,650
— X 50,0003 116 x1H 5,800
— =25 50,000& * 19 365 18,250
- 5¢ 50,000 »2H x116Y 11,600
02 332494l 129,839 130,590 AT51
Osx¢d 29z 129,839
— A& & HH RFHI 4,869
L= 1,965& *5004 983
a8 1,758& x2,0004 3,516
ulpSEeegel) 13,000& *204 260
cce 5,500& *204 110
—&dl ¥ 2 BEE= 2,500
=2l Hl 250,000 *5& 23] 2,500
— A& S22l 6,600
Aret 250,000& 204! 5,000
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©el: B2 29 CEEEED
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= 800, 000& *2JH &~ 1,600
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—JlEolgsx= 60,000, 000& *4% 2,400
— Moot ™ e &l 360,000& x12& 4,320
—-TVea 50,000& x12& 600
—&IIANESE 104,000
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= 6,250, 000& x2JH x4 & 50,000
206 M = Hl 24,500 24,500 0
1 MZ I 24,500 24,500 0
ONg22ls Mg 7 24,500
—&A2E p.p OOH 2,200& *1,5000H 3,300
— M SE 1,000& =7,0000H 7,000
— 284 oaEF 2Ll 50,000& *10&5*13] 500
—ANEss 7Y 50,000& x50 2,500
—SIEA HA HHEE
150, 000& * 105 *x23] 3,000
~Jl2S 2 ®II8E 7
50,000& *8Z =101 4,000
— & 50,000& *80&F A 4,000
— SEAlA AlE ¢ 100, 000& *2H 200
401 Al Bl 2 0HHI 10,000 95,000 A 85,000
01 A& HI 10,000 95,000 A 85,000
O ANE Y 10,000
—JIEt AIEE=S AL 2,500, 000& *44 & 10,000
405 XtakF S| 3,100 4,650 A 1,550
01 A&t = S F St 3,100 4,650 A 1,550
Oz 2HES 3,100
— 0= #¢ 500, 000& *5JH 2,500
— I8 HESFL 600
-HABI(HZE0E) 60,000& x10CH 600
BISHASAE =&l A= 14,003 27,976 N 13,973
= 7,001
& 2,101
= 4,901
101 @121l 13,603 27,176 N 13,573
= 6,801
T 2,041
= 4,761
04 JI2ZtH 22 XNEE % 13,603 27,176 N 13,573
Ogslsiosde oldll 29 13,603
—-J|I=23 41,000 »1H %207 8,487
~ 4,243
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O ZezZgIdd 2d2e 960
—2hs=HE 300
—dIIRa 360
— A& =Xl 2teldl 300
401 Al HIZ 201 I 2,000 0 2,000
01 A& HI 2,000 0 2,000
OEXHHI 2,000,000 1Al 2,000
Hots FA22ZX HL A 1,000,000 0 1,000,000
= 500,000
i 500,000
401 Al HIZ 201 8] 1,000,000 0 1,000,000
& 500,000
e 500,000
01 A& HI 977,700 0 977,700
OYsls s¢22X 2dX&
977,700,000 » 14! 977,700
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s 477,700
02 2teltl 16,000 0 16,000
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